Module 7: Industrial Revolution and Its Impact

Authentic Assessment: New Technology for a Colony or Protectorate Rubric

Location

Advancements

Benefits

Consequences

Organization and
Mechanics

20 points
The proposal clearly
explains whether you
live in a colony or a
protectorate. It
includes a detailed
description of the
location of the
colony/protectorate
and mother country.

15 points
The proposal
explains whether you
live in a colony or a
protectorate. It
includes a
description of the
location of the
colony/protectorate
and mother country.

10 points
The proposal
somewhat explains
whether you live in a
colony or a
protectorate. It
includes limited
information on the
location of the
colony/protectorate
and mother country.

5 points
The proposal does
not explain whether
you live in a colony
or a protectorate.
The location of the
colony/protectorate
and mother country
is vague and/or
missing.

The proposal clearly
explains at least
three industrial age
advancements you
believe would be
beneficial for the

The proposal
explains at least
three industrial age
advancements you
believe would be
beneficial for the

The proposal
somewhat explains
at least three
industrial age
advancements you
believe would be

The proposal has a
limited/vague
explanation of at
least three industrial
age advancements
you believe would

colony or colony or beneficial for the be beneficial for the
protectorate. protectorate. colony or colony or
protectorate. protectorate.
The proposal clearly | The proposal The proposal The proposal has a
explains how explains how somewhat explains limited/vague
advancements would | advancements would | how advancements explanation of how
benefit the benefit the would benefit the advancements would
indigenous indigenous indigenous benefit the

population and the
mother country. It
contains two

examples for each.

population and the
mother country. It
contains two

examples for each.

population and the
mother country. It
contains one
example for each.

indigenous

population and the
mother country. It
contains one or no
example for each.

The proposal clearly
explains at least two
potential
consequences of the
industrial age
advancements and
how the benefits

The proposal
explains at least two
potential
consequences of the
industrial age
advancements and
how the benefits

The proposal
somewhat explains
at least one potential
consequences of the
industrial age
advancements and
how the benefits

The proposal has a
limited/vague
explanation of the
potential
consequences of the
industrial age
advancements and

outweigh the outweigh the outweigh the how the benefits
consequences. consequences. consequences. outweigh the
conseguences

The proposal is well-
organized. It does
not contain any
spelling or
grammatical errors.

The proposal is well-
organized. It
includes few
sentence,
punctuation,
grammatical, or
spelling errors.

The proposal is
coherent but not
well-organized.
It contains many
sentence,
punctuation,
grammatical, or
spelling errors.

The proposal is
poorly-organized.

It contains many
sentence,
punctuation,
grammatical, or
spelling errors which
interfere with
understanding.

Total

/100 points
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